=
<

a(o @) (rad)
a(d cot(d))

1072

o 0 il
= 4 = F
o | I 12 S D S I
Hoo): : 0.8F----- - -
; : E 114
- + | . 0.6f----- il b S & o s
5 3 1 2 3
107 1 10 0? 1 10 10 0 1
TP, (PCA t% beamling TP, (PCA t% beamline
—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewDUP1000time__RECO
=> = :
= £ I PR T S TR R
5] (5] .
2 e :
—\;w gN S i """"""""""""""
=] + *+
lo] .
° 5. 3
> 10°

1072

=
3
N

o E o < ;

E 125—- & SHARRRRRS B R | { B = 15 L e | :

o -4 'f"""' 17T 3 @ ' ' :
o8- {ot -t A e ""+'+&+ﬂ:. """ L
L 1 1 06 45 11 1 6 P L) 1 0 TR,

= 2 3 -1 2 3

10 1 TPlp?T (PCA tjbobeamliné'f) 10 1 TPlp?T (PCA tjbobeamliné'f)

3 E

S_»—

o

5

iy

+




	Contents
	Page 1


